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HOME SCIENCE
PAPER —1II

Note : This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of them.

1.  The protective covering on the egg shell is called :
(A) Pericarp (B) Rennin (C) Cuticle (D) Epimyosin
2.  The active component in clove is :
(A) Allicin (B) Eugenol (C) Currcumin (D) Theaflavin
3.  Additional Energy and Protein requirement during pregnancy is as follows :
(A) 700 kals , 30 g (B) 300 kals, 15 g
(C) 350 kals, 15 g (D) 300 kals, 30 g
4.  To reduce the risk of complication, the Systolic and Diastolic Blood Pressure should
be :

(A) <120 mm Hg and < 85 mm Hg
(B) < 125mm Hg and < 80 mm Hg
(C) <80 mm Hg and < 120 mm Hg
(D)

D) <120 mm Hg and < 80 mm Hg
5.  The store room inventory is recorded in :
(A) Journal (B) Cash book (C) Ledger (D) Bincards

6.  Contingency approach of Management holds :
(A) that job should be segmented.
B) that organisation should be seen as whole.

(
(©
(D)

that activities to be adjusted to suit situations.

D) that productivity is increased by opportunity.
7.  Bright coloured clothes express :
(A) Confidence (B) Disturbed mind
(C) Happiness (D) Lack of confidence
8.  Shears are used for cutting :
(A) Paper (B) Leaf (C) Cloth (D) Metal

J—1209 2
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10.

11.

12.

13.

14.

15.

16.

Jute is called as :
(A) Silver fibre (B) Copper fibre
(C) Golden fibre (D) Aluminium fibre

The part of pineapple plant used for fabric manufacturing process is :
(A) Root (B) Stem (C) Flowers (D) Leaf

Doing many activities together is called :
(A) Grouping (B) Dovetailing
(C©) Combining (D) All the above

The insulating material used in refrigerator these days is :
(A) Fiber glass (B) Mica
(C) Asbestos sheet (D) Polyurethane foam

Which mother is most likely to give birth to a down’s syndrome baby ?
(A) A mother who is tall, under weight, 25 years old, and who takes narcotics.
(B) A mother who is 30 years old, overweight, and who drinks wine and smokes.

(C) A mother who is a jogger, in good health, 45 years old, and who neither smokes
nor drinks.

(D) A mother who is Rh - negative, overweight, 20 years old, and who neither drinks
nor smokes.

Mrs. Singh wants to teach her preschool class not to fight over toys. What does your
knowledge suggests as a good method ?

(A) Punish the grabbing behaviour .
(B) Show the children alternatives to aggressive behaviour.
(©)

(D)

Make sure she has only one toy of each type for every child.

Ignore the aggression.

Non formal education programme can be organized wherever :
(A) class rooms are available

B) teachers are available

most convenient to learners

class rooms and teachers both are available

The curriculum of non-formal education should be :
(A) Formally approved (B) Flexible
(C) Need specific of learner (D) Culturally based
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14.

15.

16.
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17.

18.

19.

20.

21.

22.

23.

Home Science is a field of knowledge and service primarily concerned with :
(A) Strengthening family life

(B) Empowering women

(C) Empowering women and children

(D) Strengthening society

The three-dimensional recognisable limitation of an object is known as :

(A) Mock-ups (B) Film (C) Specimen (D) Poster

F-test is used :

(A) To check the design of experiment

B) To text the difference between means of two or more groups
) To design a randomization model

D) To make an estimate of the population

Which of the following scales is “summated rating scale” used to measure attitudes :
(A) Likert’s scale (B) Bogardus scale
(C) Thurstone scale (D) Guttman’s scale

Assertion (A) : The preservative added to dark coloured fruit juices is potassium meta
bisulphite.
Reasoning (R) : This preservative is used to enhance colour.
(A) Both (A) and (R) are correct
B) (A) is correct (R) is wrong
) (A) is wrong (R) is correct
D) Both (A) and (R) are wrong

Assertion (A) : Both iron and vitamin C are required for correction /prevention of
anaemia.

Reasoning (R) : Vitamin C helps in absorption of iron in the gut.
(A) (A) is true, but (R) is false
(B) (A) is false ,but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false

Assertions (A) : Menu is considered as an essential tool in food service planning.
Reasoning (R) : Menu is a detailed list of food items served that will attract customers.
(A) Both (A) and (R) are correct

(B) (A) is true and (R) is false

(C) Both (A) and (R) are false

(D) (A) is false and (R) is true
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19.

20.

21.

22.

23.
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24. Assertion (A) :

Reasoning (R) :

Puckering takes place while machine stitching.

Use of improper needle and thread tension.

(A) (A) and (R) are true

(
(©
(D)
25. Assertion (A) :
Reasoning (R) :

B) (A) is true and (R) is false
(A) is false and (R) is true
(A) and (R) is true but (R) is not the correct explanation

Value addition includes Dyeing.

Dyeing is a form of applying colour using blocks.

(A) (A) and (R) are true

(

©
(D)
26. Assertion (A) :

Reasoning (R) :

>

(
(
(C
(

)
)

g

27. Assertion (A) :

Reasoning (R) :

>

B
C

~

(
(
(
(

g

28. Assertion (A) :

Reasoning (R) :

>

(
(
(C
(

)
)

)

J—1209

B) (A) istrue (R) is false
(A) and (R) are false
(A) is false (R) is true

With increase in family income the proportionate expenditure on food
will increase.

As family income increases the family will be spending more money
on food.

) (A) is true but (R) is false
B) Both (A) and (R) are true
(A) and (R) both are false
(A) is false but (R) is true

A secondary circular reaction involves an action that has an effect on
an object in the infant’s environment.

Secondary circular reaction is the only process which involves symbolic
play.

) Both (A) and (R) correct
(A) is true but (R) is false
Both (A) and (R) are false
) (A) is false but (R) is true

The success of an extension programme depends on the involvement
of the leader in the programme.

An active mass following and participation makes any programme
success.

) Both (A) and (R) are wrong.
B) Both (A) and (R) are correct
(A) is correct but (R) is wrong
(R) is correct but (A) is wrong
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25.

26.

27.
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29.

30.

31.

32.

33.

Assertion (A) : Integrated Rural Development Programme ensures that beneficiaries
have an opportunity to earn.

Reason (R) : Any women oriented programme improves nutritional, educational
and financial status of the family.

(A) Both (A) and (R) wrong
(B) Both (A) and (R) correct
(C) (A) is correct but (R) is wrong
(D) (A) is wrong but (R) is correct

Assertion (A) : The research study must start with the formulation of hypothesis.
Reasoning (R) : Hypothesis will help to extrapolate the sample results to the population.
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

Arrange the activities in the right sequence for making cheese :
(i) Add lactic acid

(ii) Pasteurise milk

(iii) Add salt

(iv) Add bacteria or fungus

(v) Add rennin

Codes :

@A) @ @@ @) @) (v)
®) G @ (v @) (@Gv)
Q) @) @v) @ @G ()
(D) @v) (@) @) (D) ()

Identify statement giving the correct sequence of foods in decreasing order of calcium
content :

(A) Ragi Rice, Milk, Spinach (B) Milk, Ragi, Spinach, Rice
(C) Spinach, Milk, Rice, Ragi (D) Milk, Spinach, Ragi, Rice

Give the correct sequence of the purchasing schedule :
(i)  Select the market

(i) Develop purchase order

(iii) Identify needs

(iv) Receive and inspect deliveries

(v)  Write specification

Codes :

A) @ @G (v) (@v) (i)
®) @) (v) @@ @ (@)
© @ @@ (v) @Gv) (i)
(D) @) (@v) (v) @ (b
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gl

A) THI (A) 3R (R) S T |

B) Ml (A) IR (R) T T

C) (A) T € AfF (R) Tod B |

D) (A)Ted § ifehd (R) §a B |

(
(
(
(

SIUFHLT (A) :  TY I TEAT IRHETT o AR G ST BT AT |

FHNUT(R) : IR T & TROTH &l S o AT dfgded & § H7eg T |
(A) (A) T T afed (R) TTed B |

(B) (A) e § TR (R) &l T

(Q) THl (A) 3R (R) I W B

(D) EFl (A) 3R (R) I 7Terd B |

= o ki fofer =0l |t A | afiad =¥

() <ifes THE & @

(i) TY hl ITRFRHA L

(il) THE S

(iv) SRfRE =1 Bl el

(v) TH e

HiE:

@A) @ @ (@) @Gv) (v)

®) @) @) (v) (D) (1v)

Q) @) (@v) @ @) (v)

(D) (v) (@) @) @) (v)

Qe IRl Sl hieRTEH i A & STIER 3T W ¥ A1 o HH § TS hU I 997 hifad |
(A) Ffl, =Terd, gY, qIeTeh (B) ¥, IFMl, UIeteh, =melel
(C) UIcteh, g4, =rerdd, Tt (D) 3, dTeTeh, T, =rerd

T TR T I G H TR HY Tq -
() TSR A

(i) @l I I FHHAG HEA

(iii)  SATALARAT S

(iv) WM 9T H 9 R0 &

<

(v) fafere =i fore

we:

(A @ (@) (v) (v) (i)
(B) (i) (v) () (@©) (iv)
© @ (@) (v) (@v) (i)
(D) @@ @) v @O (i)
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34.

35.

36.

37.

Garment Construction includes the sequence of :
(i) Body measurement

(ii) Surface enrichment

(iii) Drafting and pattern making

(iv) Joining of front and back

(v) Insertion of darts and fullness

Codes :

A) (v) @) @) @ >Gv)
®) @ @) @Gv) (v) (i)
Q) @) @) @Gv) @ ()
D) (v) @) @ @) (@Gv)

Arrange the correct sequence of weaving process :
(i) Shedding

(ii) Picking

(iii) Take up

(iv) Beating

Codes :

A) @ @) @) ()
®B) (v) (@) @) @)
(© @) @) @Gv) @)
D) @ @@ (@v) (i)

Arrange class of change in sequence as given by Mundel :
i)  Change in raw material

(
(i) Change in production sequence

(iii) Change in body position and number and type of motions
(

(

~"

iv) Change in finished product
v) Change in working arrangement and equipment
Codes :

(A) @) (@(v) (v) @@ ()
(B) i) (v) @) @v) @)
© @ @) G @) (V)
(D) @) (@v) () @ (V)

Give the correct sequence of cognitive process :
(i)  Reflexes

(i) Primary circular reactions

(iii) Secondary circular reactions

(iv) Mental combinations

Codes :

A) @ @) @) ()
(B) (@) (@) () (@)
(©) @) (@v) (@) ()
(D) @v) @) @) ()

J—1209 12



34.

35.

36.

37.

Teh 98 &l T Hid T9a = =10 =1 hHdg o |
() IR F AT

(i) o1 BT FIS HI @ HIAT

(iti) STHE M W& FHAT TIR HTAT |

(iv) 3TH U= o1 91T el |

(v) TR T Hed TR

e

(A) (v) () @) @ o (iv)
(B) (@) () (v) (v) (i)
(© Gy () @) @ ()
D) (v) (@) @ (@) (iv)
AT ot FEfeiEd TR i @&l AHA | sFared |
() Afgn

(i) Tafshm

(i) TH-3T

(iv) sffen

e

(A) (@) () @) (iv)

(B) (v) (if) (i) (1)

(©) @) (D) (v) ()

(D) @) @) @Gv) (i)

A) i) () (v

v) (@) (i)
® i) () @) () [
©Q () @) (@) (v
D) i) (v () 0O

Siifgen IfhaT &l T&l HH AT
() srfyeats (Rmerfead)
(i) 9¥H Hehor gfafpan

(i) fgda Fper gfafsan

(iv) FfeTa wrEEAeE
Hig:

(A) (1) (@) (i) (iv)
(B) () (i) (iv) (i)
(©) (i) (v) (@) (i)
(D) (v) @) @) @)

J—1209 13
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38.

39.

40.

Write the steps given by Wilson and Gallup (1954) of Home science extension teaching
in a sequence :

(i) Interest

(i) Conviction
(iii) Attention
(iv) Action

(v) Desire

(vi) Satisfaction

Codes :

(A) @) @ (v) @) (@Gv) (vi)
B) (vi) @) (@) @@ o @Gv) (V)
Q) @) @) @ @Gv) (v)  (vi)
D) (v) @) @) @G @Gv)  (vi)

Write the elements of communication process in a sequence :
(i) Channel

(i) Treatment

(iii) Sender

(iv) Message

(v)  Receiver

Codes :

(A) (vi) (D) @) @3 ()
(B) (@) (@v) @) @) (V)
Q) (v) (@) @) @Gv) ()
D) O G @) (v) ()

Give the correct sequence in writing a research article :
(i) Review of literature

(i) Bibliography

(iii) Introduction

(iv) Methodology

(v)  Objectives

(vi) Results and conclusion

Codes :

A) @ G) @D @Gv) (v)  (vi)
®B) @ (v) @) @Gv) (vi) (i)
Q) (@) (v) @ (@Gv) (vi) (i)
D) @) (v) @ (@) @@ (vi)

J—1209 14



foeem &R fetw (1954) & STTIR Tefoa™ war fren & =Ru 69 § fafeu )

38.

afefa
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39.
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40.
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41. Match the items in List-I with List-II :

List-1 List-11
(a) Blanching (i) oil
(b) Foaming (i) milk
() Emulsion (iii) wheat
(d) Homogenization (iv) egg
(e)  Gluten formation (v) green leaves
(vi) sugar
Codes :
@@ (b) () (d) (o)
(A) ) @ @) @ )
® () O ) G W
© O () & v (i)
D &) (v O G (i)
42. Match the diseases in List-I with organs in List-II :
List-1 List-11
(a) Diabetes (i)  Liver
(b)  Celiac disease (i) Kidney
(c) Nephritis (iii) Gall bladder
(d) Cholelithiasis (iv) Pancrease
(v) Intestines
Codes :
(@ (b) (o) (d)
@A) ) O ) ()
B ) O @ @)
© O ) (@)
D) (v) ) @) (i)

43. Match the following Equipment in List-I with food items which use them in List-II :

List-1 List-11
(a) Bainmaric (i)  mutton curry
(b) Salamander (i) chapati
(c) Steam cooker (iii) pizza
(d) Food processor (iv)  rice
(e) Griddles (v) vegetables

(vi) ice cream

Codes :

(@ B () (@ (o
(A) @) @) @) Gv) (Vi)
B) @ () @) (v) (i)
© @) (v) @) @) @0
(D) (vi) (@) @) (v) (i)

J—1209 16
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44. Match the following items in List-I with List-II :

List-1 List-I1
(a) Bias binding (i)  Turning the seam easily
(b) Under stitching (ii) Finishing the raw edges
(c)  Notches (iii) Removing extra fullness from the seam
(d) Stay stitching (iv) To retain the shape
Codes :

(@ (b () (@
(A) (v) @) @) (i)
B) @) (@) @) ()
© @) @ @) ()
(D) @) (v) () ()

45. Match the following List-I with List-II :
List-1 List-11

(@) Acrylic (i) Modified Basic dyes
(b) Silk (i) Disperse dyes
(c) Polyester (iii) Direct dyes
(d) Cotton (iv) Acid dyes
(v) Pigment dyes

Codes :

(@ (b (o (@
(A) @ @) (D) (V)
B) @ Gv) @) (i)
© @) (i) (v) ()
(D) @) (@v) (v) ()

46. Match the items in List-I with List-II :
List-1 List-I1

(a) Resources (i)  Ability, skill
(b) Human Resources (i) Materials and human abilities
(c)  Economic Resources (iii) Tangible resources
(d) Non human Resources (iv) Knowledge, time , community resources
(v)  Resources used in production and distribution
Codes :
(@ (b (0 (@
(A) @ @) @) (V)
B) @) @ (v) (i)
(© @) (@v) (v) (i)
(D) @) @) (@v) (i)

J—1209 18



44.
-1
) e
b) e fefEm

b) ()
(i)
(ii)
i) (i)
(

i)

45.

(d)
(iif)
(iv)
(iv)
(

1

(d)
(v)
(ii)

(d)
(v)
(ii)
(ii)
(i)

(
(
Gi
(

i)

1

11

1v

Frefafed g=-1 % 7 1 gei-11 § gafed S

fi-11
T =1 T 9 gere
e TR hl gREfSid e

) W H ¥ g ey g

SRR I I TG

Tqe-11

Hifshse afgsh T
feaqd
TR W

AV T
T &

Tqeit-11

I, fgoran

IRIU 9 HEAT IR
IR HIEH

M, THE, HHSIHeh HIEd
I U8 fI9uH & |ieA
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47.

Match the items in List-I with List-II :

List-1
Soft spot in infant’s skull
One word utterances expressing a more

complex thought

(c) Care giver used an base for exploration
(d) Disorder involving extreme weight loss
Code :
(@ @B () (@
(A) (v) () @) ()
(B) @) @) @) @)
© @O G @) @)
(D) @) @) @) ()

48.

List-I with List-II :

List-1
(Name of the Authors)

(a) Directorate of Extension
(b) Chandra, Arvind and Shah,
Anupama
(c) Dahama, O.P. and Bhatnagar, O.P.
(d) Chakraborty, Sujit K.
Code :
@@ () (o (d)
(A) (v) @) @ @)
(B) (v) (D) @) ()
© @ @) (@v) ()
(D) @) @ @) ()

20

List-11
(i)  Anorexia Nervosa
(ii) Holophrase
(iii) Secure attachment
(iv) Fontanelle

This consists of two lists of statements, name of the books and authors Match the

List-11
(Name of Books)

(i)  Audio-Visual Education in India

(i) Education and communication for
development

(iii) Non formal education for all

(iv) Extension education in

Community Development



47. GE-1H geE-11 9 foesd

-1 -1
(a) o= H WU A T/ TWE (i) TR e
(b) T &R SII hicA ToaR i ® Y (i) ErAHS
(c) 3 fiEeR (SE@ T aren) 39 (i) GUera @
ST % T STER i /e
I W T

(d) T far & srenfys aw w9 & S © (iv) heaue (H=AE)

48. YA 1 S g & WA T GER-1 H @Rl & A § SR G-11 H Gl & 9§ | G-I 6
-1 e fersd |

eit-1 -1
(TRl o ) ( qEIehi o A )
(a) TRFZ 3H THRICIH () onfed fosaa Usphem &7 sfean

(b) =T, SRfa iR MR, ST (i) UShYM T HEHRIA TR STaute
(c) =, 7. 9. 3R He AR, . (iti) T HRAA TSRIA BR A
(d) =, geid. . (iv) TERICYH USEhoM 3 SRl Saatutic

(@ (b) (o) (d)
i) (i)

iv) (i)

iii)  (iv)
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49.

50.

Read the passage below and answer the questions that follow based on your
understanding of the passage :

The gap which exists between the literacy rates of the two sexes also exists between
the enrolment of girls and boys at all levels of education. Right from the primary school
to the university, we find that the number of girl students is considerably lower than
the number of boy students. According to Article 45 of the constitution universal
compulsory and free education until the age of 14 was to be achieved by the year 1960.
Looking at the present condition of primary education in villages, it seems doubtful
that 100 per cent enrolment of girls can be achieved by the end of this century. There is
no doubt that we have made great headway in the education of women in the last
century. It is unfortunately true of our society that children are sent to school not
according to their intelligence or aptitude but according to their sex. Such attitude
need to be changed without further delay if we want to achieve 100 per cent enrolment

of the primary school-going children.

Article 45 of the constitution states :

(A) Compulsory education to be achieved by 1960

B) Universal compulsory and free education up to the age of 14
Compulsory and free education up to primary school only

Compulsory and free education for girls

Gap between the literacy rates of boys and girls exists because of :
(A) Preference given to boys for schooling

(B) Economic reasons

(C) Children sent to school based on intelligence

(D) None of the above

-000-
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el fau T 3 = st ufeu e 36 WX 3 Uyl o ST fauRyde shifa :

ST T & 7ed, TieRar U H Hieg o, et % S 'R W, TRl IR dsH
i | ot few vedr ® | wafhe faemea & e favafoae™ @ 9 asfwal & d@em,
TSH! St T&A ¥ AT T | <A A § | WAL HT GRT 45 T STER 14 T4 I 37 qah, fava
=t Afaml SR U foen o6t Sufsdr 1960 ek &1 ST € | Ui | ae|e fearfd i @d g g
k1 Bt ® o 50 TIaTee] & 31 ek TISfeRal % ATHIsh % oied whi U B S | 390 T
Tt o 70 foeedt sramst § 910 foren o &= o 3id W 1 9% TR THN &1 g9 § fF o1 o=
& IR gfg A1 Al % STTER forner T Se afesh 3T faT % STTER 99 © 1 9fe 7w
e faemel # faumea S ot s=9 &1 100% TTHiHT 9ed § a6 Afder 39 ygia &l
Rafdd A T T ¥ |

49. 3TI=5G 45 % TTEN :
(A) 1960 Tk AfTard e =t wifd
(B) e Afemd wsl gehifed e 14 99 I 1 1 qh
(C) TnIfHeh WX qek e el Yoek Mea e
(D) dferehtel o faq sfard 1 enited e

50. TISH! IR ASHAT I HERAT R H <R H HRU T
(A) TSH! ht foe skl grerfiehan
(B) 3TIfeis wRW
(C) o= gfg % TTUR et 991 WA |
(D) Swfdfad & § HiE &

-000-
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Space For Rough Work



